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1. Find the general solution of the differential equation (15 points).
p 2 (e) div(grad f) () div(curl(grad /)
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6. Determine that solution of the partial differential equation
2. Compute the inverse Laplace transform (15 points ). |
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which satisfies the condition /'(x,0) = sin x forallx. (20 points).
3. LetA 2[_11 (I)J Compute 4'%. (15 points).
4. Evaluate the line integral J;(5 —xy—y*)dx ~(2xy-x2)dy , Where C is

the square with vertices (0, 0), (1, 0), (1, 1), (0, 1), traversed

counterclockwise. (15 points).




